Deel Toets 1 2005

Opgave 4 1. (a) f(z) = 2° +i. flx+iy) = (v +iy)* +i = 2° + 3a?yi —
3ry? —ydi + 1 = (23 — 3xy?) + (1 + 32%y — y3)i. Neem dus
w(z,y) = 23 — 3zy? en v(z,y) = 1 + 322y — ¢
(b) f(2) = sin(z?). Merk op (blz 110) sin(z+iy) = sin(z) cosh(y)+
i cos(z) sinh(y). Verder geldt (z+1y)? = (2* —3zy?)+ (32%y —
y*)i (zie vorige onderdeel). Dus we nemen u(x,y) = sin(x® —
3zy?) cosh(3x?y — y3) en v(x,y) = cos(x® — 3zy?) sinh(3z?y —

y°)
22 (a+iy)? 22—y 4 %y l—atiy . (1—2)(a®—y?)—2zy?
(C) {(22> : 21%(1 1)—)(:B—iy) == 1ijm—i;y(11—%4(ri§ —2) , (21—ac)2+y2 =
zy—y*+2zxy(l—=x))i . (l=z)(z*—y*)—2x -
: (129;)224_%,12 ) . Dus u(z,y) = (1_$)Qy+y2 Y en v(z,y) =
zey—y*+2zy(l—2x))i
(l—fc)24y-y2
2. (a) %&W) = 3x? — 3y* %ﬁj(w’y) = 322 — 332 w = —6zy
B y Y
partugl;}(:r:,y) _ 61L'y
(b) —8"éz’y) = cos(x) sinh(y). piarti‘gy”(””y) = cos(z) sinh(y). —8"((9‘:@’) =
sin(z) sinh(y). %Z;(x’y) = —sin(z) sinh(y).
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